Bulletin of the *Transilvania* University of Braşov • Vol 7(56), No. 2 - 2014 Series III: Mathematics, Informatics, Physics, 45-58

ON A CLASS OF LP-SASAKIAN MANIFOLDS

Krishnendu DE^1 and Srimayee SAMUI²

Abstract

The object of the present paper is to study projective curvature tensor in LP-Sasakian manifolds. LP-Sasakian manifolds satisfying P.R = 0, R.P = 0 and P.S = 0 are also considered. ϕ -Ricci symmetric LP-Sasakian manifolds have been studied. In all the cases the manifold becomes an Einstein manifold. Next we study 3-dimensional LP-Sasakian manifold satisfying divP = 0. Finally, we construct an example of a 3-dimensional LP-Sasakian manifold which verifies our result.

2000 Mathematics Subject Classification: 53C15, 53C25.

 $Key\ words:\ LP$ -Sasakian manifold, projective curvature tensor, Einstein manifold.

1 Introduction

In 1989 Matsumoto [7] introduced the notion of Lorentzian para-Sasakian manifolds. Then Mihai and Rosca [10] defined the same notion independently and they obtained several results in this manifold. *LP*-Sasakian manifolds have also been studied by Matsumoto and Mihai [8], Matsumoto, Mihai and Rosca [9], Mihai, Shaikh and De [11], De and Shaikh ([2],[4]), Ozgur [13] and many others. After the conformal curvature tensor the projective curvature tensor is an important tensor from the differential geometric point of view. Let M be an n-dimensional Riemannian manifold. If there exists a one-to-one correspondence between each coordinate neighborhood of M and a domain in Euclidian space such that any geodesic of the Riemannian manifold corresponds to a straight line in the Euclidean space, then M is said to be locally projectively flat. For $n \geq 3$, M is locally projectively flat if and only if the well known projective curvature tensor P vanishes. Here P is defined by [12]

$$P(X,Y)Z = R(X,Y)Z - \frac{1}{n-1} \{ S(Y,Z)X - S(X,Z)Y \},$$
(1.1)

¹Konnagar High School(H.S.), 68 G.T. Road (West),Konnagar,Hooghly, Pin. 712235, West Bengal, India, e-mail: krishnendu_de@yahoo.com

²Umes Chandra College, 13, Surya Sen Street, kol 700012, West Bengal, India, e-mail: sri-mayee.samui@gmail.com

for $X, Y, Z \in T(M)$, where R is the curvature tensor and S is the Ricci tensor. In fact, M is projectively flat (that is, P = 0) if and only if the manifold is of constant curvature (pp. 84-85 of [16]). Thus, the projective curvature tensor is a measure of the failure of a Riemannian manifold to be of constant curvature. A Riemannian or a semi-Riemannian manifold is said to be semi-symmetric ([14],[6]) if R(X,Y).R = 0, where R is the Riemannian curvature tensor and R(X,Y) is considered as a derivation of the tensor algebra at each point of the manifold for tangent vectors X, Y. If a Riemannian manifold satisfies R(X,Y).P = 0, then the manifold is said to be projectively semi-symmetric manifold.

Motivated by the above works we study some properties of projective curvature tensor in LP-Sasakian manifolds.

An LP-Sasakian manifold is said to be locally ϕ -symmetric if

$$\phi^2((\nabla_X R)(Y, Z)W) = 0, \tag{1.2}$$

for all vector fields X, Y, Z, W orthogonal to ξ . This notion was introduced for Sasakian manifolds by Takahashi [15]. Later in [1], Blair, Koufogiorgos and Sharma studied locally ϕ -symmetric contact metric manifolds. In (1.2), if X, Y, Zand W are not horizontal vectors then we call the manifold globally ϕ -symmetric.

An LP-Sasakian manifold is said to be ϕ -Ricci symmetric if the Ricci operator Q satisfies

$$\phi^2(\nabla_X Q)(Y) = 0, \tag{1.3}$$

for all vector fields $X, Y \in T(M)$ and the Ricci operator Q is defined by S(X, Y) = g(QX, Y), where S is the Ricci tensor. If X, Y are orthogonal to ξ , then the manifold is said to be locally ϕ -Ricci symmetric. From the definition it follows that ϕ -symmetric implies ϕ -Ricci symmetric, but the converse, is not, in general true. ϕ -Ricci symmetric Sasakian manifolds have been studied by De and Sarkar [3].

Again an *LP*-Sasakian manifold is called Einstein if the Ricci tensor S is of the form $S = \lambda g$, where λ is a constant.

The paper is organized as follows: In section 2, some preliminary results are recalled. After preliminaries, we study LP-Sasakian manifolds satisfying P.R = 0 and R.P = 0. Section 4 deals with LP-Sasakian manifolds satisfying P.S = 0. In the next section, we prove that an *n*-dimensional LP-Sasakian manifold is ϕ -Ricci symmetric if and only if it is an Einstein manifold. Next we study 3-dimensional LP-Sasakian manifold satisfying divP = 0 and prove that in that case the manifold is a space form. Finally, we construct some examples of LP-Sasakian manifold which verifies our result.

2 Preliminaries

Let M^n be an *n*-dimensional differentiable manifold endowed with a (1,1) tensor field ϕ , a contravariant vector field ξ , a covariant vector field η and a Lorentzian metric g of type (0,2) such that for each point $p \in M$, the tensor g_p : $T_pM \times T_pM \to \mathbb{R}$ is a non-degenerate inner product of signature $(-, +, +, \dots, +)$, where T_pM denotes the tangent space of M at p and \mathbb{R} is the real number space which satisfies

$$\phi^2(X) = X + \eta(X)\xi, \eta(\xi) = -1, \qquad (2.1)$$

$$g(X,\xi) = \eta(X), g(\phi X, \phi Y) = g(X,Y) + \eta(X)\eta(Y)$$
(2.2)

for all vector fields X, Y. Then such a structure (ϕ, ξ, η, g) is termed as Lorentzian almost paracontact structure and the manifold M^n with the structure (ϕ, ξ, η, g) is called Lorentzian almost paracontact manifold [7]. In the Lorentzian almost paracontact manifold M^n , the following relations hold [7]:

$$\phi \xi = 0, \eta(\phi X) = 0, \tag{2.3}$$

$$\Omega(X,Y) = \Omega(Y,X), \tag{2.4}$$

where $\Omega(X, Y) = g(X, \phi Y)$.

Let $\{e_i\}$ be an orthonormal basis such that $e_1 = \xi$. Then the Ricci tensor S and the scalar curvature r are defined by

$$S(X,Y) = \sum_{i=1}^{n} \epsilon_i g(R(e_i, X)Y, e_i)$$

and

$$r = \sum_{i=1}^{n} \epsilon_i S(e_i, e_i),$$

where we put $\epsilon_i = g(e_i, e_i)$, that is, $\epsilon_1 = -1, \epsilon_2 = \cdots = \epsilon_n = 1$.

A Lorentzian almost paracontact manifold M^n equipped with the structure (ϕ, ξ, η, g) is called Lorentzian paracontact manifold if

$$\Omega(X,Y) = \frac{1}{2} \{ (\nabla_X \eta) Y + (\nabla_Y \eta) X \}.$$

A Lorentzian almost paracontact manifold M^n equipped with the structure (ϕ, ξ, η, g) is called an LP-Sasakian manifold [7] if

$$(\nabla_X \phi)Y = g(\phi X, \phi Y)\xi + \eta(Y)\phi^2 X.$$

In an LP-Sasakian manifold the 1- form η is closed. Also in [7], it is proved that if an *n*- dimensional Lorentzian manifold (M^n, g) admits a timelike unit vector field ξ such that the 1- form η associated to ξ is closed and satisfies

$$(\nabla_X \nabla_Y \eta) Z = g(X, Y) \eta(Z) + g(X, Z) \eta(Y) + 2\eta(X) \eta(Y) \eta(Z),$$

then M^n admits an LP-Sasakian structure. Further, on such an LP-Sasakian manifold M^n (ϕ, ξ, η, g) , the following relations hold [7]:

$$\eta(R(X,Y)Z) = [g(Y,Z)\eta(X) - g(X,Z)\eta(Y)],$$
(2.5)

$$S(X,\xi) = (n-1)\eta(X),$$
 (2.6)

$$S(\phi X, \phi Y) = S(X, Y) + (n-1)\eta(X)\eta(Y),$$
(2.7)

$$R(X,Y)\xi = [\eta(Y)X - \eta(X)Y], \qquad (2.8)$$

$$R(\xi, X)Y = g(X, Y)\xi - \eta(Y)X, \qquad (2.9)$$

$$(\nabla_X \phi)(Y) = [g(X, Y)\xi + 2\eta(X)\eta(Y)\xi + \eta(Y)X], \qquad (2.10)$$

for all vector fields X, Y, Z, where R, S denote respectively the curvature tensor and the Ricci tensor of the manifold. Also since the vector field η is closed in an LP-Sasakian manifold, we have ([8],[7])

$$(\nabla_X \eta) Y = \Omega(X, Y), \tag{2.11}$$

$$\Omega(X,\xi) = 0, \tag{2.12}$$

$$\nabla_X \xi = \phi X, \tag{2.13}$$

for any vector field X and Y.

We now give some examples of LP-Sasakian manifolds both in odd and even dimensions.

Example 1: [9] Let \mathbb{R}^5 be the 5- dimensional real number space with a coordinate system (x, y, z, t, s). Denoting

$$\eta = ds - ydx - tdz, \quad \xi = \frac{\partial}{\partial s}, \quad g = \eta \otimes \eta - (dx)^2 - (dy)^2 - (dz)^2 - (dt)^2$$

and

$$\begin{split} \phi(\frac{\partial}{\partial x}) &= -\frac{\partial}{\partial x} - y\frac{\partial}{\partial s}, \quad \phi(\frac{\partial}{\partial y}) = -\frac{\partial}{\partial y}, \\ \phi(\frac{\partial}{\partial z}) &= -\frac{\partial}{\partial z} - t\frac{\partial}{\partial s}, \quad \phi(\frac{\partial}{\partial t}) = -\frac{\partial}{\partial t}, \quad \phi(\frac{\partial}{\partial s}) = 0, \end{split}$$

the structure (ϕ, ξ, η, g) becomes an *LP*-Sasakian structure on \mathbb{R}^5 . The metric tensor g can be expressed by the matrix

$$g = \begin{pmatrix} 1+y^2 & 0 & ty & 0 & -y \\ 0 & -1 & 0 & 0 & 0 \\ ty & 0 & -1+t^2 & 0 & -t \\ 0 & 0 & 0 & -1 & 0 \\ -y & 0 & -t & 0 & 1 \end{pmatrix}.$$

Example 2: Let \mathbb{R}^4 be the 4- dimensional real number space with a coordinate system (x, y, z, t). In \mathbb{R}^4 we define

$$\eta = dt - ydz - dx, \ \xi = \frac{\partial}{\partial t},$$

$$g = e^{2t}(dx)^2 + e^{2t}(dy)^2 + (e^{2t} + y^2)(dz)^2 + ydz \otimes dx + ydx \otimes dz - ydz \otimes dt - ydt \otimes dz - \eta \otimes \eta,$$

and

$$\phi(\frac{\partial}{\partial x}) = \frac{\partial}{\partial x} + \frac{\partial}{\partial t}, \quad \phi(\frac{\partial}{\partial y}) = \frac{\partial}{\partial y},$$
$$\phi(\frac{\partial}{\partial z}) = \frac{\partial}{\partial z}, \quad \phi(\frac{\partial}{\partial t}) = 0.$$

Then it can be seen that the structure (ϕ, ξ, η, g) becomes an *LP*-Sasakian structure on \mathbb{R}^4 . The metric g can be expressed by

$$g = \begin{pmatrix} e^{2t} - 1 & 0 & 0 & 1\\ 0 & e^{2t} & 0 & 0\\ 0 & 0 & e^{2t} & 0\\ 1 & 0 & 0 & -1 \end{pmatrix}.$$

3 LP-Sasakian manifolds satisfying P.R = 0

In view of (1.1) the projective curvature tensor of an *n*-dimensional *LP*-Sasakian manifold is given by

$$P(X,Y)Z = R(X,Y)Z - \frac{1}{n-1}[S(Y,Z)X - S(X,Z)Y].$$
(3.1)

Now from the above equation with the help of (2.6) and (2.9) we get

$$P(\xi, V)\xi = 0 = P(V,\xi)\xi.$$
(3.2)

In this section first we study LP-Sasakian manifolds satisfying

$$(P(X,Y).R)(U,V)W = 0.$$
(3.3)

Substituting $Y = \xi$ in (3.3) we have

$$(P(X,\xi).R)(U,V)W = P(X,\xi)R(U,V)W - R(P(X,\xi)U,V)W - R(U,P(X,\xi)V)W - R(U,V)P(X,\xi)W$$
(3.4)

Putting $U = W = \xi$ in (3.4), we get

$$(P(X,\xi).R)(\xi,V)\xi = P(X,\xi)R(\xi,V)\xi - R(P(X,\xi)\xi,V)\xi - R(\xi,P(X,\xi)V)\xi - R(\xi,V)P(X,\xi)\xi$$
(3.5)

Now,

$$P(X,\xi)R(\xi,V)\xi = P(X,\xi)(V - \eta(V)\xi) = P(X,\xi)V - \eta(V)P(X,\xi)\xi = P(X,\xi)V.$$
(3.6)

$$R(P(X,\xi)\xi,V)\xi = 0.$$
 (3.7)

$$R(\xi, P(X,\xi)V)\xi = P(X,\xi)V - g(P(X,\xi)V,\xi)\xi$$

= $P(X,\xi)V - g(X,V)\xi + \frac{1}{n-1}S(X,V)\xi.$ (3.8)

$$R(\xi, V)P(X,\xi)\xi = 0.$$
 (3.9)

Using (3.6), (3.7), (3.8) and (3.9) in (3.5) we have

$$P(X,\xi)V - P(X,\xi)V + g(X,V)\xi - \frac{1}{n-1}S(X,V)\xi = 0.$$
 (3.10)

Taking inner product of (3.10) by ξ we obtain

$$S(X,V) = (n-1)g(X,V).$$
(3.11)

Therefore the manifold is an Einstein manifold. Thus we can state the following: **Theorem 3.1.** An LP-Sasakian manifold satisfying P.R = 0 is an Einstein manifold.

Next we study LP-Sasakian manifolds satisfying

$$(R(X,Y).P)(U,V)W = 0 (3.12)$$

Now substituting $Y = \xi$ in (3.12) we have

$$(R(X,\xi).P)(U,V)W = R(X,\xi)P(U,V)W - P(R(X,\xi)U,V)W - P(U,R(X,\xi)V)W - P(U,V)R(X,\xi)W. (3.13)$$

Putting $U = W = \xi$ in (3.13) we have

$$(R(X,\xi).P)(\xi,V)\xi = R(X,\xi)P(\xi,V)\xi - P(R(X,\xi)\xi,V)\xi -P(\xi,R(X,\xi)V)\xi - P(\xi,V)R(X,\xi)\xi.$$
(3.14)

From (3.2) we obtain

$$R(X,\xi)P(\xi,V)\xi = 0 = P(\xi, R(X,\xi)V)\xi.$$
(3.15)

Again

$$P(R(X,\xi)\xi,V)\xi = P(\eta(X)\xi - X,V)\xi = -P(X,V)\xi + \eta(X)P(\xi,V)\xi = -P(X,V)\xi.$$
(3.16)

and

$$P(\xi, V)R(X, \xi)\xi = P(\xi, V)(\eta(X)\xi - X) = \eta(X)P(\xi, V)\xi - P(\xi, V)X = -P(\xi, V)X.$$
(3.17)

Using (3.15), (3.16), (3.17) in (3.14) we have

$$P(X,V)\xi + P(\xi,V)X = 0.$$
 (3.18)

Taking the inner product of (3.18) by ξ we obtain

$$S(X,V) = (n-1)g(X,V).$$
(3.19)

Therefore the manifold is an Einstein manifold. Thus we can state the following: **Theorem 3.2.** An LP-Sasakian manifold satisfying R.P = 0 is an Einstein manifold.

4 LP-Sasakian manifolds satisfying P.S = 0

In this section we study LP-Sasakian manifold satisfying P.S = 0. Therefore

$$(P(X,Y).S)(U,V) = 0.$$
(4.1)

This implies

$$S(P(X,Y)U,V) + S(U,P(X,Y)V) = 0.$$
(4.2)

Putting $Y = U = \xi$ in (4.2) we obtain

$$S(P(X,\xi)\xi,V) + S(\xi,P(X,\xi)V) = 0.$$
(4.3)

Using (3.2) in (4.3), we have

$$S(\xi, P(X,\xi)V) = 0.$$
 (4.4)

This implies

$$(n-1)g(R(X,\xi)V - \frac{1}{n-1}[S(\xi,V)X - S(X,V)\xi],\xi) = 0.$$
(4.5)

It follows that

$$g(R(X,\xi)V,\xi) - \frac{1}{n-1}[(n-1)\eta(V)\eta(X) - S(X,V)] = 0.$$
(4.6)

Therefore

$$S(X,V) = (n-1)g(X,V).$$
(4.7)

Hence the manifold is an Einstein manifold.

Conversely, the manifold is an Einstein manifold, that is, $S(X, V) = \lambda g(X, V)$.

$$(P(X,Y).S)(U,V) = S(P(X,Y)U,V) + S(U,P(X,Y)V) = \lambda[g(P(X,Y)U,V) + g(U,P(X,Y)V].$$
(4.8)

Since

$$g(P(X,Y)U,V) = -g(P(X,Y)V,U).$$
(4.9)

Using (4.9) in (4.8) we have

$$(P(X,Y).S)(U,V) = 0.$$
(4.10)

Thus we can state the following:

Theorem 4.1. An LP-Sasakian manifold satisfies P.S = 0 if and only if it is an Einstein manifold.

5 ϕ -Ricci symmetric LP-Sasakian manifolds

Proposition 5.1. An n-dimensional ϕ -Ricci symmetric LP-Sasakian manifold is an Einstein manifold.

Proof. Let us assume that the manifold is ϕ -Ricci symmetric. Then we have

$$\phi^2(\nabla_X Q)(Y) = 0.$$

Using (2.1) in the above, we get

$$(\nabla_X Q)(Y) + \eta((\nabla_X Q)(Y))\xi = 0.$$
(5.1)

From (5.1), it follows that

$$g((\nabla_X Q)(Y), Z) + \eta((\nabla_X Q)(Y))\eta(Z) = 0, \qquad (5.2)$$

which on simplifying gives

$$g(\nabla_X Q(Y), Z) - S(\nabla_X Y, Z) + \eta((\nabla_X Q)(Y))\eta(Z) = 0.$$
(5.3)

Replacing Y by ξ in (5.3), we get

$$g(\nabla_X Q(\xi), Z) - S(\nabla_X \xi, Z) + \eta((\nabla_X Q)(\xi))\eta(Z) = 0.$$
(5.4)

By using (2.6) and (2.13) in (5.4), we obtain

$$(n-1)g(\phi X, Z) - S(\phi X, Z) + \eta((\nabla_X Q)(\xi))\eta(Z) = 0.$$
 (5.5)

Replacing Z by ϕZ in (5.5), we have

$$S(\phi X, \phi Z) = (n-1)g(\phi X, \phi Z).$$
(5.6)

In view of (2.2) and (2.7), (5.6) becomes

$$S(X,Z) = (n-1)g(X,Z),$$

which implies that the manifold is an Einstein manifold.

Now, since a ϕ -symmetric manifold is ϕ -Ricci symmetric, we have

Corollary 5.1 A ϕ -symmetric LP-Sasakian manifold is an Einstein manifold.

Proposition 5.2. If an n-dimensional LP-Sasakian manifold is an Einstein manifold, then it is ϕ -Ricci symmetric.

Proof. Let us suppose that the manifold is an Einstein manifold. Then

$$S(X,Y) = \alpha g(X,Y),$$

where S(X,Y) = g(QX,Y) and α is a constant. Hence $QX = \alpha X$. So, we have

$$\phi^2(\nabla_X Q)(Y) = 0.$$

This completes the proof.

In view of Proposition 5.1 and Proposition 5.2, we have

Theorem 5.1. An *n*-dimensional LP-Sasakian manifold is ϕ -Ricci symmetric if and only if it is an Einstein manifold.

6 3-dimensional LP-Sasakian manifolds

Let us consider a 3-dimensional LP-Sasakian manifold. It is known that the conformal curvature tensor vanishes identically in the 3-dimensional Riemannian manifold. Thus we find

$$R(X,Y)Z = g(Y,Z)QX - g(X,Z)QY + S(Y,Z)X - S(X,Z)Y - \frac{r}{2}[g(Y,Z)X - g(X,Z)Y],$$
(6.1)

where Q is the Ricci operator, that is, g(QX, Y) = S(X, Y) and r is the scalar curvature of the manifold.

Putting $Z = \xi$ in (6.1) and using (2.8) we have

$$\eta(Y)QX - \eta(X)QY = (\frac{r}{2} - 1)[\eta(Y)X - \eta(X)Y].$$
(6.2)

Putting $Y = \xi$ in (6.2) and using (2.1) and (2.6), we get

$$QX = \frac{1}{2}[(r-2)X + (r-6)\eta(X)\xi],$$
(6.3)

that is,

$$S(X,Y) = \frac{1}{2}[(r-2)g(X,Y) + (r-6)\eta(X)\eta(Y)].$$
(6.4)

An LP-Sasakian manifold is said to be a space form if the manifold is a space of constant curvature.

Lemma 6.1 A 3-dimensional LP-Sasakian manifold is a space form if and only if the scalar curvature r = 6.

Proof. Using (6.3) in (6.1), we get

$$R(X,Y)Z = \left(\frac{r-4}{2}\right)[g(Y,Z)X - g(X,Z)Y] + \left(\frac{r-6}{2}\right)[g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y].$$
(6.5)

From (6.5), the Lemma is obvious.

Let M be a 3-dimensional LP-Sasakian manifold with conservative projective curvature tensor [5], that is, divP = 0. Then its Ricci tensor is given by

$$(\nabla_X S)(Y, Z) = (\nabla_Y S)(X, Z). \tag{6.6}$$

From this we obtain r = constant.

From (6.4) we have

$$(\nabla_X S)(Y,Z) = \frac{1}{2} [dr(X) \{ g(Y,Z) + \eta(Y)\eta(Z) \}. + (r-6) \{ \Omega(Y,X)\eta(Z) + \Omega(Z,X)\eta(Y) \}].$$
(6.7)

Using (6.7) we get from (6.6)

$$dr(X)[\frac{1}{2}g(Y,Z) + \eta(Y)\eta(Z)] - dr(Y)[\frac{1}{2}g(X,Z) + \eta(X)\eta(Z)] + (r-6)\{\Omega(Z,X)\eta(Y) - \Omega(Z,Y)\eta(X)\} = 0.$$
(6.8)

Taking a frame field and contracting over Y and Z, we get

$$dr(X) = (r-6)\psi\eta(X), \tag{6.9}$$

where $\psi = \sum_{i=1}^{3} \Omega(e_i, e_i) = trace\phi$. If we assume that $\psi = trace\phi \neq 0$, that is, ξ is not harmonic, then r = 6. So in view of Lemma 6.1 we state the following:

Theorem 6.1. A 3-dimensional LP-Sasakian manifold satisfying divP = 0 is a space form, provided the characteristic vector field ξ is not harmonic.

7 Examples

Example 7.1: We consider the 3-dimensional manifold $M = \{(x, y, z) \in \mathbb{R}^3_1\}$, where (x, y, z) are standard coordinates of \mathbb{R}^3_1 .

The vector fields

$$e_1 = e^z \frac{\partial}{\partial y}, \ e_2 = e^z (\frac{\partial}{\partial x} + \frac{\partial}{\partial y}), \ e_3 = \frac{\partial}{\partial z}$$

are linearly independent at each point of M.

Let g be the Lorentzian metric defined by

$$g(e_1, e_1) = g(e_2, e_2) = 1, g(e_3, e_3) = -1,$$

$$g(e_1, e_2) = g(e_1, e_3) = g(e_2, e_3) = 0.$$

Let η be the 1-form defined by $\eta(Z) = g(Z, e_3)$ for any vector field $Z \in \chi(M)$. Let ϕ be the (1, 1) tensor field defined by

$$\phi(e_1) = -e_1, \ \phi(e_2) = -e_2, \ \phi(e_3) = 0.$$

Then using the linearity of ϕ and g we have

$$\eta(e_3) = -1,$$

$$\phi^2 Z = Z + \eta(Z)e_3,$$

$$g(\phi Z, \phi W) = g(Z, W) + \eta(Z)\eta(W)$$

for any vector fields $Z, W \in \chi(M)$.

Then for $e_3 = \xi$, the structure (ϕ, ξ, η, g) defines a Lorentzian paracontact structure on M.

Let ∇ be the Levi-Civita connection with respect to the Lorentzian metric g and R be the curvature tensor of g. Then we have

$$[e_1, e_2] = 0 \quad , [e_1, e_3] = -e_1$$

and

$$[e_2, e_3] = -e_2.$$

Taking $e_3 = \xi$ and using Koszul's formula for the Lorentzian metric g, we can easily calculate

$$\begin{aligned} \nabla_{e_1} e_1 &= -e_3, \quad \nabla_{e_1} e_2 &= 0, \quad \nabla_{e_1} e_3 &= -e_1, \\ \nabla_{e_2} e_1 &= 0, \quad \nabla_{e_2} e_2 &= -e_3, \quad \nabla_{e_2} e_3 &= -e_2, \\ \nabla_{e_3} e_1 &= 0, \quad \nabla_{e_3} e_2 &= 0, \quad \nabla_{e_3} e_3 &= 0. \end{aligned}$$

From the above it can be easily seen that $M^3(\phi, \xi, \eta, g)$ is an *LP*-Sasakian manifold. With the help of the above results it can be easily verified that

$$\begin{aligned} R(e_1, e_2)e_3 &= 0, \quad R(e_2, e_3)e_3 = -e_2, \quad R(e_1, e_3)e_3 = -e_1, \\ R(e_1, e_2)e_2 &= e_1, \quad R(e_2, e_3)e_2 = -e_3, \quad R(e_1, e_3)e_2 = 0, \\ R(e_1, e_2)e_1 &= -e_2, \quad R(e_2, e_3)e_1 = 0, \quad R(e_1, e_3)e_1 = -e_3. \end{aligned}$$

From the above expressions of the curvature tensor we obtain

$$S(e_1, e_1) = g(R(e_1, e_2)e_2, e_1) - g(R(e_1, e_3)e_3, e_1)$$

= 2.

Similarly we have

$$S(e_2, e_2) = 2, S(e_3, e_3) = -2$$

and

$$S(e_i, e_j) = 0 (i \neq j).$$

Therefore,

$$r = S(e_1, e_1) + S(e_2, e_2) - S(e_3, e_3) = 6.$$

Therefore Theorem 6.1. is verified.

Example 7.2: Let us consider the 5-dimensional manifold $\tilde{M} = \{(x, y, z, u, v) \in \mathbb{R}^5 : (x, y, z, u, v) \neq (0, 0, 0, 0, 0)\}$, where (x, y, z, u, v) are the standard coordinates in \mathbb{R}^5 . The vector fields

$$e_1 = e^z \frac{\partial}{\partial x}, \ e_2 = e^{z-ax} \frac{\partial}{\partial y}, \ e_3 = \frac{\partial}{\partial z}, \ e_4 = e^z \frac{\partial}{\partial u}, \ e_5 = e^{z-u} \frac{\partial}{\partial v}$$

are linearly independent at each point of \tilde{M} where a is scalar. Let \tilde{g} be the metric defined by

$$\begin{split} \tilde{g}(e_i, e_j) &= 1, \quad for \ i = j \neq 3, \\ &= 0, \quad for \ i \neq j, \\ &= -1, \quad for \ i = j = 3. \end{split}$$

Here *i* and *j* runs from 1 to 5. Let η be the 1-form defined by $\eta(Z) = \tilde{g}(Z, e_3)$, for any vector field Z tangent to \tilde{M} . Let φ be the (1, 1) tensor field defined by

$$\varphi e_1 = -e_1, \ \varphi e_2 = -e_2, \ \varphi e_3 = 0, \ \varphi e_4 = -e_4, \ \varphi e_5 = -e_5.$$

Then using the linearity property of φ and \tilde{g} we have

$$\eta(e_3) = -1, \ \varphi^2 Z = Z + \eta(Z)e_3$$

for any vector field Z tangent to \tilde{M} . Thus for $e_3 = \xi$, $\tilde{M}(\varphi, \xi, \eta, \tilde{g})$ defines an almost para-contact metric manifold. Let $\tilde{\nabla}$ be the Levi-Civita connection on \tilde{M} with respect to the metric \tilde{g} . Then we have

$$[e_1, e_2] = -ae^z e_2, \quad [e_1, e_3] = -e_1, \quad [e_1, e_4] = 0, \quad [e_1, e_5] = 0,$$
$$[e_2, e_3] = -e_2, \quad [e_2, e_4] = 0, \quad [e_2, e_5] = o, \quad [e_3, e_4] = e_4,$$
$$[e_3, e_5] = e_5, \quad [e_4, e_5] = -e^z e_5.$$

Taking $e_3 = \xi$ and using Koszul's formula for \tilde{g} , it can be easily calculated that

$$\begin{split} \ddot{\nabla}_{e_1}e_1 &= e_3, \quad \dot{\nabla}_{e_1}e_2 = 0, \quad \dot{\nabla}_{e_1}e_3 = -e_1, \quad \dot{\nabla}_{e_1}e_4 = 0, \quad \dot{\nabla}_{e_1}e_5 = 0, \\ \tilde{\nabla}_{e_2}e_1 &= ae^z e_2, \quad \tilde{\nabla}_{e_2}e_2 = -ae^z e_1 e_3, \quad \tilde{\nabla}_{e_2}e_3 = -e_2, \quad \tilde{\nabla}_{e_2}e_4 = 0, \quad \tilde{\nabla}_{e_2}e_5 = 0, \\ \tilde{\nabla}_{e_3}e_1 &= 0, \quad \tilde{\nabla}_{e_3}e_2 = 0, \quad \tilde{\nabla}_{e_3}e_3 = 0, \quad \tilde{\nabla}_{e_3}e_4 = 0, \quad \tilde{\nabla}_{e_3}e_5 = 0, \\ \tilde{\nabla}_{e_4}e_1 &= 0, \quad \tilde{\nabla}_{e_4}e_2 = 0, \quad \tilde{\nabla}_{e_4}e_3 = -e_4, \quad \tilde{\nabla}_{e_4}e_4 = 0, \quad \tilde{\nabla}_{e_4}e_5 = 0, \\ \tilde{\nabla}_{e_5}e_1 &= 0, \quad \tilde{\nabla}_{e_5}e_2 = 0, \quad \tilde{\nabla}_{e_5}e_3 = -e_5, \quad \tilde{\nabla}_{e_5}e_4 = e^z e_5, \quad \tilde{\nabla}_{e_5}e_5 = e_3 - e^z e_5. \end{split}$$

From the above calculations, we see the manifold under consideration satisfies $\eta(\xi) = -1$ and $\tilde{\nabla}_X \xi = \varphi X$. Hence, \tilde{M} is an *LP*-Sasakian manifold.

References

- [1] Blair, D. E., Koufogiorgos, T. and Sharma, R., A classification of 3dimensional contact metric manifolds with $\varphi Q = Q\varphi$, Kodai Math. J. 13 (1990), 391-401.
- [2] De, U. C. and Shaikh, A. A., On 3-dimensional LP-Sasakian manifolds, Soochow J. Math., 26 (2000), 359-368.

- [3] De, U. C. and Sarkar, A., On φ- Ricci symmetric Sasakian manifolds, Proceeding of the Jangjeon Mathematical Society, 11 (2008), 47-52.
- [4] De, U. C., Matsumoto, K. and Shaikh, A. A., On Lorentzian para-Sasakian manifolds, Rendiconti del Seminario Mat. de Messina, 3 (1999), 149-158.
- [5] Hicks, N. J., Notes on differential geometry. Affilated East-West Press Pvt. Ltd. 1969.
- [6] Kowalski, O., An explicit classification of 3-dimensional Riemannian spaces satisfying R(X,Y).R = 0, Czechoslovak Math. J. 46(121) (1996), 427-474.
- [7] Matsumoto, K., On Lorentzian paracontact manifolds, Bull. Yamagata Univ. Natur. Sci. 12 (1989), 151-156.
- [8] Matsumoto, K. and Mihai, I., On a certain transformation in a Lorentzian para-Sasakian manifold, Tensor (N.S.), 47 (1988), 189-197.
- [9] Matsumoto, K., Mihai, I. and Rosca, R., ξ-null geodesic gradient vector fields on a Lorentzian para-Sasakian manifold. J. Korean Math. Soc. 32 (1995), 17-31.
- [10] Mihai, I. and Rosca, R., On Lorentzian P-Sasakian manifolds, Classical Analysis. World Scientific, Singapore, (1992), 155-169.
- [11] Mihai, I., Shaikh, A. A. and De, U. C., On Lorentzian para-Sasakian manifolds, Korean J. Math. Sciences 6 (1999), 1-13.
- [12] Mishra, R. S., Structures on differentiable manifold and their applications, Chandrama Prakasana, Allahabad, 1984.
- [13] Ozgur, C., φ-conformally flat Lorentzian para-Sasakian manifolds, Radovi matematicki, 12 (2003), 99-106.
- [14] Szabo, Z. I. , Structure theorems on Riemannian spaces satisfying R(X,Y).R = 0, I: The local version, J. Diff. Geom. 17 (1982), 531-582.
- [15] Takahashi, T., Sasakian φ-symmetric spaces, Tôhoku Math. J. 29 (1977), no. 2, 91-113.
- [16] Yano, K. and Bochner S., Curvature and Betti numbers, Annals of Math. Studies 32, Princeton university Press, 1953.
- [17] Yano, K., Integral formulas in Riemannian geometry, Mercel Dekker, INC., New York, 1970.